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import org.roboid.robot.

* o
4

import processing.hamster.*;

Hamster hamster;

void setup () ({

hamster = new Hamster (this) ;

}

// don't forget 'draw'
void draw() {

}

void control () {
// move forward

hamster.write (Hamster.
hamster.write (Hamster.

delay (500) ;

// move backward

hamster.write (Hamster.
hamster.write (Hamster.

delay (500) ;

// stop

hamster.write (Hamster.
hamster.write (Hamster.

LEFT WHEEL, 50);
RIGHT WHEEL, 50);

LEFT WHEEL, -50);
RIGHT WHEEL, -50);

LEFT WHEEL, 0);
RIGHT WHEEL, O0);
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import org.roboid.robot.*;
import processing.hamster.*;

void setup () {
new Hamster (this) ;

}

void draw () {

}

void execute (Robot hamster) ({
// left wheel
int proximity = hamster.read (Hamster.LEFT PROXIMITY) ;
if (proximity > 15) {
hamster.write (Hamster.LEFT WHEEL, (40 - proximity) * 4);
} else {
hamster.write (Hamster.LEFT WHEEL, O0);
}

// right wheel
proximity = hamster.read(Hamster.RIGHT PROXIMITY) ;
if (proximity > 15) {
hamster.write (Hamster .RIGHT WHEEL, (40 - proximity) * 4);
} else {
hamster.write (Hamster .RIGHT WHEEL, 0);
}
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